ECE 311 - Homework #15

L and C in the LaPlace Domain

Find the LaPlace impedance from A to B for the following circuits. Assume zero initial conditions:
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Problem 1 Problem 2
Problem 1) Add the resistor and capacitor in parallel Problem 2) Same but use R1 instead of Ls
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Zl:LS+(E+E) Zr=Ri+ ==+Cs
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Z1=Ls+ \%+Cs) Z;=Ri+ 1+R,Cs
_ R [ R1(1+R2Cs)+R,
Z1=Ls+ <1+RCS) Z; = ( 1+R,Cs )
_ Ls(1+RCs) R _ R1R2Cs+R1+R2
Zy= ( 1+RCs ) + (1+RCS) Ly = ( 1+R,Cs )
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RlLs(R2C5+1)+R2(R1+Ls))
(R 1+LS)(R2CS+1)

RleLC82+(R1+R2)Ls+R1R2)
(R1+Ls)(R2Cs+1)



